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1 |EEHE Ta=125 °C, V = Vopr max. 1000 h 0/22 |HRREERBT S &
2 |mEEEns TR Ta=85°C, RH=85% 1000h | 022 |BRBEREBRT DL
V = Vopr max.
- o — — 5
3 [ FLyswsuniqpz |10 CRH=8S% P=2.3-10"Pa o6h | o2 |MEEEEBRETHC L
V = Vopr max.
4 |ERRE Ta=150 °C 1000 h 0/22 |ERREER/ET S &
5 [ERR%E Ta=-65 °C 1000 h 0/22 |BlmRBER/RET S &
6 [ESHBAYAIIIL Ta=85 °C, V= Vopr max. 61 * 0/22 BRI EBRET S L
10°cycles
7 |BEYCsoL (587 Ta=150 °C ¢ —65°C, & 15 % 500 cycles | 0/22 |HBRHBREBRT S &
HSRRERRETSHL
- T 1 _\#2 — o N
8 |[FAFmEEL () IA—) T=260 °C, 10s 3 0/22 ML, BEALEC L
" } ey #2 T=380°C, 55 ([FAFFaTEEE) HOIERAEREREST B L
9 |IFAFETEE 2 IZAETT) % U — R 2 0/22 AELL. BEALEC L
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| AR kA1 : Sn3.0Ag-0.5Cu 5s | Ol | v migmansy d 959651 L A
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12 |4 24 1 (ZREHE) Ta=30 °C, RH=60% 4000h 0/6 Z;J:g, —& um =
13 [M4 2 H 2 REHAIL) Ta=85°C & -40 °C 1500 cycles | 0/6 Z;;j}z'f ABE 45um AT
s A H A 40 L
14 |4 A5 3 (BEERERR) Ta=55 °C, RH=85 % 4000h 0/6 Z;,g, - E’f um =T
15 IFAEESEEN Ta=125 °C & -40°C 2000 evel P YVHISREIED 50% L LD
(H AMFERE) P [&A/12#1 : Sn-3.0Ag-0.5Cu cyeles BMEEMIETH L
16 |J—FB|l-5R Y &E 5|38 7 : 1.0N 30s 011 |V—FABELEWNC &
17 ) — FehIF38E 21385 : 05N 45 ERYiIF 2 [A] 0/11 |U—FABELIE N &
V=42000 V, C=100 pF, R=1.5 kQ y o . _
18 |E&EME 1(HBM) Veo B GND K 5| 0/5 HEBRBREBRTLHIL
19 | EMmME 2(CDM) V=+500 V #E, EHKRE 10 05 |HRBEKRERETSL
SYFT Y THRE _ _
= “ “ 7L~ -
20 LR BIEAE) +100 mA, V = Vopr max. 1[E 05 |ZwFF7yvTLAENIE

7E) Vopr max.=mx KEMEEE
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